WEDDLE

Updated 6/17/22

MD TRANS BASE KIT

INDIVIDUAL PARTS WEDDLE PART # NOTES
2 SIDECOVER MD-6934
T DIFF HOUSING MD-535
[ DIFF COVER MD-530
T SMALL PINION BEARING CONE MD-403
T SMALL PINION BEARING CUP MD-404
[ LARGE PINION BEARING CONE MD-405
T LARGE PINION BEARING CUP MD-406
2 BALL BEARING FOR DRIVE FLANGE MD-422
2 FINAL DRIVE FLANGE SEAL MD-920
2 DIFF CARRIER BEARING CONE MD-421
2 DIFF CARRIER BEARING CUP MD-420
T DIFF SHIM KIT (3x.003", 2x.004", 3x.005", 2x.006", 3x.007") MD-500K
2 SIDE GEAR MD-545

BAG 1

16_ | 3/8-24HEXNUT, GRADES8 H-N3824
6_ 10MM FLAT WASHER, HARDENED H-WM10
12 1/4"-20 X 1/2" BOLT, FLAT TORX HEAD HV-926
6_ | 3/8-24X13/4"BOLT, 12 POINT H-B3824175FC
6__ | 3/8"HIGH COLLAR LOCK WASHER MD-956
T LOAD BOLT MD-945
T 1/8" PIPE PLUG, INTERNAL SOCKET DRIVE H-PLUG-18PISD
T | 3/8"PIPEPLUG, INTERNAL SOCKET DRIVE H-PLUG-38PISD
22____ | 8MM WAVE WASHER H-WM8-WAVE
2 M8 X 1.25 NYLOC NUT H-NLM8
6 M8 X 1.25X 38MM STUD H-SMBX38
12 M8 X 1.25 X 62MM STUD H-SMB8X62

WEDDLE INDUSTRIES ¢ 7200 HOLLISTER AVENUE, SUITE C, GOLETA, CA 93117 ¢ PH: (805) 562-8600 ¢ FAX: (805) 562-8661 ¢ INFO@WEDDLEINDUSTRIES.COM

PAGE10F2




MD TRANS BASE KIT

BAG 2 WEDDLE PART # NOTES
T | PINION BEARING PRELOAD SPACER MD-407-530
2___ | SIDECOVER O-RING MD-922
2___ | BEARING RETAINER PLATE FOR OUTPUT FLANGES MD-925
2__ | 934DRIVE FLANGE SPIRAL LOCK MD-934
1T | CLUTCH CABLE GUIDE MD-940
2__ | SPACER WASHER FOR CLUTCH CABLE GUIDE MD-941
2___ | BOLTFOR REAR MS BRG RETAINER PLATE MD-994
3__ | 7MM STAR LOCK WASHER FOR T/0 BRG GUIDE SLEEVE H-WM7-STL
2__ | COPPER SEALING WASHER FOR OIL FILL PLUG H-WM19-SEAL
2__ | OILFILLPLUG H-PLUG-34UNFH
3 | 3/416 NUT(JAMNUT) H-JN3416
3_ | M7-1.0X16MM BOLT FOR T/0 BRG GUIDE SLEEVE H-BM7X16H

12 | 3/8-24X1.000" XHD RING GEAR BOLT H-B3824100XHD

BAG 3
3__ | DOWELPIN FOR DIFF CROSS SHAFT MD-537
1 | DIFF CROSS SHAFT, LONG MD-538
2___ | DIFF CROSS SHAFT, SHORT MD-539
T | DIFF CENTER BLOCK MD-540
4_ | SPIDER GEAR THRUST WASHER MD-551
2__ | SIDE GEAR THRUST WASHER MD-552

14 | SIDECOVER STUD 3/8" X 1 1/2" MD-9SCS150
2 SIDECOVER STUD 3/8" X 2" MD-9SCS200

WEDDLE INDUSTRIES ¢ 7200 HOLLISTER AVENUE, SUITE C, GOLETA, CA 93117 ¢ PH: (805) 562-8600 ¢ FAX: (805) 562-8661 ¢ INFO@WEDDLEINDUSTRIES.COM

PAGE20F 2




